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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1.

Tdherelt TAYYY S19q YIS W Adieh sifqerid: o |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

2. |t T w AEE € |
All the questions are compulsory.

3. YIS U H 3] o TE SN YR ¥ g fad |
Write the answer to each question in the given answer-book
only.

4. 59 9o # =it @ve §, 379 9+t & S T Wiy 9 o |
For questions having more than one part, the answers to those
parts are to be written together in continuity.

5. T 99 o fel 9 TS TR | fhdl TR &l Ffe / SR / g™
M T fE=t 91 o 9o i €1 Wl A |
If there is any error / difference / contradiction in Hindi and
English versions of the question paper, the question of Hindi
version should be treated valid.
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6. @UE U9 & 37k Uk U9
A 1-10 1
B 11 - 15 2
C 16 - 25 3
D 26 - 30 6
Part Question Nos. Marks per question
A 1-10 1
B 11 - 15 2
C 16 - 25 3
D 26 - 30 6

7. T wAH 2879 30 H Tk fawey § |
There are internal choices in Question Nos. 28 and 30.

8. AUl IW YR o T & Ml IR fafeu | afc g T & & g,
@ SW-gRasht & 31fad gl I IR 3R foRaSt @Al ¥ weadl 39 W
‘v wE faa
Write on both sides of the pages of your answer-book. If any
rough work is to be done; do it on-last pages of the answer-book
and cross with slant lines and write ‘Rough-Work’ on them.

9. YT A 26 H @I Uh Y9I 91ET 4
Draw the graph of Question No. 26 on graph paper.

WE - A
PART - A
TR 981 7, 5.8, 1,~1, -3, ..... 1 {6 TR _FMd SIS |

Write the common difference of the A.P. 7,5, 3, 1, =1, -3, ..... .
g (-5, 4) & x- 35 9 g fafew |

Write the distance of the point (- 5, 4 ) from x-axis.

g THIR I 4x + 2y = 5 x — 2y = O H A fAT@T |

Write the solution of the pair of linear equations 4x + 2y = 5 and
x -2y =0.

31T TUAEvE fafy gR1 96 3R 404 F1 HCF 3@ *ifsrg |

Find the HCF of 96 and 404 by the Prime Factorisation Method.

3731 TR § Tl X 52 U i T TGI H U Tk Il 01 AG] B hI IRl
BRIl 1

One card is drawn from a well-shuffled deck of 52 cards. Calculate
the probability that the card will not be an ace.

I K(5,4) @& PQ wIAAfag T aen @ & fdwish (2, 3)%, @A P &
feeTieh AT hiterg, |

If K (5, 4)is the mid-point of the line segment PQ and co-ordinates
of Q are ( 2, 3 ), then find the co-ordinates of point P.

afg fag R ¥ 0 %= 9t fddl 99 W RA 9 RB T9¥1 Y@IT TWER § & HIT T
3T B AT £ AOB = 40° B @ 19 0 H1 AH TN HY |
If tangents RA and RB from a point R to a circle with centre O are

inclined to each other at an angle of 6 and £ AOB = 40° then find the
value of 0 .
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8.

10.

11.

12.

13.

14.

15.

3

4 T o arer g9 W feoa fedt fog o forat Tast Y@net &1 &1 &t S
Tl § 2

How many tangents can be constructed to any point on the circle of
radius 4 cm ?

14 9 =9 910t g4 i 9RkfY Ja Sy |

Find the circumference of a circle whose diameter is 14 cm.
o r ot 99 % U eads, fS9e Fio i § oo ®, 919 &) a9
ST |

Write the length of an arc of a sector of circle with radius r and angle
with degree measure 0.

@S - B
PART - B
fe@mET & sin 28° cos 62° + cos 28° sin 62° = 1.
Show that sin 28° cos 62° +cos 28° sin 62° = 1.

tan 67 o 3w =T |

cot 23°
tan 67°
cot-23°

?:lﬁ{300tA=4,Fﬁ1_wr122AEFIﬂHE|ﬁaﬂﬁE|

1 + tan® A
l1-tan2A
1+tan2A'
HIE 49 Teh GrEd A Ml o SR &1 ¢ 69 W Th el gad
TARIfad © | 31d et &l e 79 ® R @ wdA (U ) W FA ST
13 9Ht ® | 39 S 1 SRS JE &k J1d I |

A vessel is in the form of a hollow hemisphere mounted by a hollow
cylinder. The radius of the hemisphere is 7 cm and the total height of
the vessel is 13 cm. Find the inner surface area of the vessel.

3T | 10 LOKS & LROP 1 HM A hItG, af 141 A OPR ~ A OSK
d°qr £ POS = 125° 3R £ PRO = 70° ¥ |

Find the value of

If 3 cot A = 4, then evaluate
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In the figure, A OPR ~ A OSK , £ POS = 125° and £ PRO = 70°. Find
the values of £ OKS and £ ROP.

R P
< >
70°
[0) 125°
< R S >
@s - C
PART - C
2
1 -tan A
I'=tan A | % 2
Prove that [ 1.4 cot A =tan“A.

17. 3x3 +x2% 2x + 5% 1 4 2x + x 2 9 9 Q|
Divide 3x 3 + x 2 +2x+5byl+ 2x.+x 2|

18. fog ®ifVT fF v 2 T squfas §en ¢ |
Prove that V' 2 is an irrational number.

19. A.P. 17,15, 13, ... % fohad ue fere SITd aifes 3k a1 8171 ?

How many terms of the A.P.-17, 15, 13, ...... must be taken, so that
their sum is 81 ?

20. TH 74l % Y % U fog § 71 & F0q@ FhARl & STaTHA 07 A 30° 3R
45° T | afc qa-foal 9 4 WX &1 39E W I, @ 7S St AISE A1 BT |
From a point on a bridge across a river the angles of depression of the
banks on opposite sides of the river are 30° and 45° respectively. If
the bridge is at a height of 4 m from the banks, find the width of the
river.

21. & ME NMFAH O TH 90 H &5 ¢ 9% 9 fog K 9 99 W & w991 @
KR, KS ®i+t T €, df fag wifse fF KR = KS.

.S
K
R
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22.

23.

24.

25.

26.

5

In the given figure, O is the centre of a circle and two tangents KR,
KS are drawn on the circle from a point K lying outside the circle.
Prove that KR = KS.

S

R
4 9, 59 3R 6 Wi oSSl Al T S HT WA I THH IHEY TH
o1 Tt @ o T ot g fe T frge ) g e o
g |
Construct a triangle of sides 4 cm, 5 ¢cm and 6 emand then a triangle
similar to it whose sides are g time of the corresponding sides of the
given triangle.
7 9t 57531 arel 99 # S0 120° % 4 <™ SE0e &1 &F%d 94 hieg |

Find the area of corresponding major sector of a circle with radius
7 cm and angle 120°.

1 9t oo 3R 2 U et are i Uk 9 i Ush HHM @Sl ard 18 HieX
T T TR F &Y B o€ Sl e | IRt HieR Jd hife |

A copper rod of radius 1 cm and length 2 cm is drawn into a wire of
length 18 m of uniform thickness. Find the thickness of the wire.

Hrst 3 s i © 1 SR S feorm st wifgenand i it
G) o 5 feom fum-fae &
(i) <& < feaq 99 =1 |

Neeraj and Dheeraj are friends. Find the probability of their birthdays
when

(i) birthdays are different.
(i) birthdays are same.
€ e -D
PART - D
5 9al 3R 3 W=l 1 o Yod 35 FUA § Seh 2 Hal 3R 4 <R H FdA oI

28 TUI T | 3H GHEA ! SISV ®9 H oFh h W fafy § g swifsw |

The cost of 5 apples and 3 oranges is Rs. 35 and the cost of 2 apples
and 4 oranges is Rs. 28. Formulate the problem algebraically and
solve it graphically.
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27. U& HiX &2 oot feor S & =@ 18 foedt / wvar & 1 3@ Se 9 12 foot
w%qﬁwaﬁﬁ,aﬁ@w%waﬁaﬁaﬁm%wﬁwéﬁ
T | U R AT 1A RIS |

The speed of a boat in still water is 18 km/h. It takes % an hour extra

in going 12 km upstream instead of going the same distance
downstream. Find the speed of the stream.

28. 3T¥d ABCD & 37 feerd 0 &% forg €, fag =ifse .
oB%2+0p? =0A? +0C?

A D

P R
(6]

B C

O is any point inside rectangle ABCD. Prove that
0B2+0D2% =0A? y0oC?

A D
p R
O
B C
3T

e o < T sTepfa % = % €91 L PKT = £ PRS ® | g #ifSg fs
A PSR T& GHfgag HIqSI T |
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In the given figure

" KS

is an isosceles triangle.

7

PT

PK = TR and Z PKT = £ PRS . Prove that A PSR

P

S
R
29. K & WM ¥ Hifay, afc fag A (2, 3),B (4, k) 3R C (6, -3 )8El
g
Find the value of k if the points A (2, 3), B(4,k)and C ( 6, — 3 ) are
collinear.
30. T s 1 hfcdd HiLg HIeh HI%A x. J Al :
o 3t | 10 - 25| 25 < 40| 40 - 55 [ 55 = 70|70 = 85 | 85 — 100
HAHSRAT 2 3 7 5 6 7
CRE]
{5 ST 1 Igctsh J1d HIST -
It 3t | 020 | 20-40 | 40=60 | 60 — 80 | 80 — 100 [ 100 —120
HAERAT 10 35 52 61 38 20
In the following distribution calculate mean x from assumed mean :
Class- 10-25|125-40|140-55|55-70|70-85|85 - 100
interval
Frequency 2 3 7 5 6 7
OR
Find the mode of the following distribution :
Class- 0-20|20-40 | 40-60 | 60-80 | 80 - 100|100 -120
interval
Frequency 10 35 52 61 38 20
S—09—Maths. [ Turn over

Previous Pathshala






